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1. AAEZRTE E =25 AL ~ B(5,-2) ~ C(12,-1) » % VUiE ABCD BZF1TIUET » HI D BhALE
(A) (113) (B) (-4,0)
(C) (14-4) (D) (10,2)

2. %k BEE > E41cot200°=—k » Hllsin1330°= ?

k k V1+k? V1+k?
(A) - (B) - - (®) (D) -
V1+k Vi+k k k
3. 3% x B EHL > BKEf (%) = (sin x + cos X)? + 2(sin X + cos X) B AAE S M » B/ MER m » HI
(A) M=2++42>m=-1 (B) M=2+2/2 >m=-1
(C) M=2+J2>m=2-42 (D) M =2+2J2 > m=2-22
4. 2H12sin@=3cos@ » [ HIEEIE ([ E (R 2
(A) s,in26?=E ’COSZQ:E (B) sin26?:E ’00526?:—3
13 13 13 13
© sin26?:—E ’00529:3 (D) sin 29:—E ’00329:—3
13 13 13 13

5. [EIN$EDUE2 ABCD 1> BC=4 ~ CD=3~ AD=4 » # /BCD =120° * H| AB 2 &
(A) 3 (B) 5
C) 7 (D) 9

6. Clla ~ b BRI » #5|a|=3 +|B|=2 - m?a@mﬁaﬁsg | 24+3D| = ?

(A) 343 (B) 6
(C) 63 (D) 9

7. 8% f(x) =2x" +5x° —11x* +8x -5 » £ f (X) BRLA2x -1 AT f5AUra =0 Q(x) » BR=NES R(x) » HIl
(A) Q(X)=2x>+6x"-8x+4*R(x)=3
(B) Q(x)=2x*+6x*-8x+4°R(x)=-3
(C) Q(x)=x*+3x*-4x+2°R(x)=3
(D) Q(x)=x>+3x>-4x+2°*R(X)=-3

8. UMli=v-1H a b BEH > FH2+J7i B/TERXC -7 +ax+b=02—H » ¢ BRI E
R Hla+b+c=?
A) -7 B) -8
©) -9 (D) -10
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= b= - —- — ,—(3
9. 7%z~ 2, IR > Hhz, =3-4i > # |z |=V2|7,| > B 1E’J£fl1 AT s iz, =
7 1. 7 1. . .
A) ——+—1i B) ———=i C) 1+7i D) 1-7i
(A) "3 (B) 273 (©€) (D)

1Q%x%§%’%wﬁww<%y”’mxmﬁﬁﬁ

(A) —2<x<3 (B) x>3B{x<-2
(C) -1<x<4 (D) x>48{x<-1

11. 3% x BEH > HIfR /2 0og, (x —1) =1+ log, (x + 2) AI{SFTAER.Z 15

(A) 7 (B) 6 €) 5 (D) 4
12. —F B a, +a, +a, +----- a, > HAIFS 0 FAERd > Ha, =8 » BT HI#GM & §8ER ?
(A) a,=20
(B) d=-2
(C) # 11 MR/ MR 0
(D) a1+a21=0

13. E A1 A(2,-5) ~ B(6) » FHll#cdi & iR ?
(A) # C BhALEFs (0,-8) » HIIA~ B~ C =Bt
(B) # D BiAAERS (12,-3) » HIl ZABD =90°

(C) &2 P (0,3) HAATE# AB HIE R /2205 3x — 2y +6 =0
(D) ABHYTEE /43 RS 2x+3y —4=0

14. HERR L 4x—-3y+12=0F1 x BT 28 A% 0 » Hlcosg = ?
3 4 7 9
) ¢ ® = © 15 0) 35

16, AR | - FHIEAR L IRERE — ’Eéﬁi: X2 +y? —4x—2y—4=0FHY] - ER L AHEE
TR - AL RS

(A) 4x-3y-10=0 (B) 4x—-3y-20=0
(C) 4x-3y+10=0 (D) 4x-3y+20=0
x>0°y>0
16. AMEZRTE F o e TR AFE R 2x+ y—4> OWELE T » f(x,y) =3x+ 2y B AMHE
X+2y-5<0
(A) 6 (B) 7 (C) 13 (D) 15
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17. LIIRR (y - 2)° = —4(x + 1) ROEERE S AL > SREER A EHY RN 20
(A) (x+1)*+(y-2)° =1 (B) (x+1)*+(y-2)*=16
(C) (x+2)°+(y-2)°=1 (D) (x+2)*+(y-2)*=16

1&%Pﬂ&%ﬁ%ﬁ@&%ﬁ—%miw—mzotZ%’%A\B%ﬁ%%’%ﬁﬁiﬁkﬁ
(A) 3 (B) 4 (C) 245 (D) 6

19. NYIRIEIE - LR D 2
(A) 6 AH{EEE 3 AHERK—71]
(B) 3{EASIEIRIERITA 5 EAFIRIFE T FAREREC R
(C) 6 {EHMHIEIRIER 45 4 8/ AR » B NPT BTG
(D) 6 A[EE[E Ak

20$~Zﬁk&%’ﬁ$%§’ﬁﬁ$$%%%§m%’%$~ZWA%Q%#ﬁ’m§9#A
PR
7 9 11 13
A) — B) — C) — D) —
(A) 20 ®) 20 © 20 (D) 20

21. [RIRFHEPRIRL N B - > HWORIEERS 6 B > w15 10 JT s 516 KL 6 B » Al{S 50 s A I 6
BhiFlE 3 7T » Kt —REIAENER 2 DT ?

5 _ 5 _ 5 _ 5
() ®) It © -t () ~ 7t
20, ok lim V3 X =V3=2x
Xx—0 X
(A) ? (B) g (C) 3 (D) %
23. % 1() = (0 ~2x° ~1)° » Hllim f(“';)h‘ o _ o
(A) 16 (B) —16 (C) 80 (D) —80
2.0k [ X o= 2
1 X
72 67 62 57
(A) = (B) 5 (C)'?; (D) =
25. HifR y =v/x—3 ~ [ x =12 Hil x sl R e s i
(A) 16 (B) 18 (C) 20 (D) 22
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